
� SM21.V3 Issue 2 PL  8/05/18

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR
01284 757500 01284 703534 sales@sealey.co.uk www.sealey.co.uk

Page 1 of 1

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product. 
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim. 

Parts Information:
Parts Cleaning Tank Bench/Portable
Model No: SM21.V3

Item Part No. Description

1 SM21.V3-01 Tank

4 SM21.V3-04 Lid

5 SN5.S Steel nut m5 zinc din934 (single)

6 SM21.V3-06 Lid arm

7 SWM6.S Spring washer m6 zinc (single)

8 SM21.V3-08 Handle

9 SM21.V3-09 Plate for lid arm

20 SM21.V3-20 Cord shell

22 MSP58.S Machine screw pan head phillips m5x8mm 
(single)

23 SM21.V3-23 Clamp

24 SN5.S Steel nut m5 zinc din934 (single)

25 SM21.V3-25 Bolt - for clamp

26 SN5.S Steel nut m5 zinc din934 (single)

27 SM21.V4-09 Flexible pipe

Item Part No. Description

28 SM21.V3-28 Pump

29 SM21.V3-28A Impeller

-- SM40D.V2-20 Wire clamp (NOT SHOWN)

33 SM40D.V2-22 Switch box

34 SM40D.V2-21 Switch

36 MC3CX0.75 Mains cable blk, 3 core, 0.75 mm2

37 MSPS412.S Machine screw pan head slotted m4x12mm 
(single)

38 SM21.V3-38 Washer, star m4

39 FWM4.S Flat washer m4 single

40 SWM4.S Spring washer m4 (single)

41 SN4.S Steel nut m4 zinc din934 (single)

42 SM21.V3-42 Removable work shelf

43 SM21.V3-43 Filter


